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[Participant ID

Participant Name

Test Center Name iON Digital Zone iDZ 1 Sector 62
Test Date 16/01/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Question ID : 9489112323
Option 11D : 9489119290
Option 2 ID : 9489119291
Option 31D : 9489119292
Option 4 ID : 9489119289
Status : Not Answered
Chosen Option : --




Q2 meo TdeUr SR 1 F R T weEt F aw-awE it TmEear = wF aifve gdr ¥ e

Ans

Faetor 2020 7 F AN F T TE=C 9T Oitg R

X1 frsdt
X 2 AR

X o
(4.3’@&;

Question ID : 9489112335
Option 11D : 9489119339
Option 2 ID : 9489119340
Option 31D : 9489119338
Option 4 ID : 9489119337
Status : Answered
Chosen Option: 4
93 RS T T A G T AR AR R FE I s @
Ans 1. 2000
X 22018
V'3 2010
4 1995
Question ID : 9489112343
Option 11D : 9489119370
Option 2 1D : 9489119369
Option 3 1D : 9489119371
Option 4 1D : 9489119372
Status : Answered
Chosen Option: 3
Q4 v @fesT FT o F, A Fr 26 3T O Fr 12 @ 1w §1 == T AT & AMAZON Fr R 9
for@r srea?
Ans  of 1 26142611213
X 2 26122611213
/3 26132611213
X 4 26152611213
Question ID : 9489112886
Option 11D : 94891111543
Option 2 ID : 94891111544
Option 31D : 94891111541
Option 4 ID : 94891111542
Status : Answered

Chosen Option :

1




Q.5

HTT & YR 3T THEATT FEFEE TUTEAES (acting PM) 9
X EF. TR

X2 &rdr. RE
5. TSNS FaT
v T
A 4 T E ggeiET
Question ID : 9489112328
Option 11D : 9489119309
Option 21D : 9489119310
Option 31D : 9489119312
Option 41D : 9489119311
Status : Answered
Chosen Option : 3
Q.6 HIE T TEe Aed-Yeirend gReegeT &, S 3w svdegr e gites Az (1ITM),
qUr & T fomar T §) 2450 HUS #T AFTT ¥ REREd, $W IS @ S AteA i FeE
#r sifsgaoat ¥ e S s 2
Ans x
1oafecT
X2 R
X 3 gcgeT
v 'EIF\'JJq
Question ID : 9489112332
Option 11D : 9489119326
Option 21D : 9489119328
Option 31D : 9489119327
Option 4 1D : 9489119325
Status : Answered
Chosen Option : 2
Q.7 :
ARATT UL FIEAH & TUH FCTET &7 ATH FT 91?
Ans x 1 ﬂ a ﬁ
X 2. FIAET e Ag®
v i e =g st
X 4 A FIeAT
Question ID : 9489112339
Option 11D : 9489119353
Option 2 ID : 9489119354
Option 31D : 9489119356
Option 4 ID : 9489119355
Status : Answered
Chosen Option : 3




%% [3+5-8of4+ 3x{8+2—(4 + 3)}] F H ¥ MFaATY

Ans 1[}1
Rt
5
202
X2 i
10
202
i3 _ -
5
201
7 Wit
5
Question ID : 9489114248
Option 11D : 94891116989
Option 21D : 94891116991
Option 31D : 94891116992
Option 4 1D : 94891116990
Status : Answered
Chosen Option : 3
Q.9 37 Zr F AH TET, FES HUAT FOrEy B WA F B e few F 3t W w1
TETEr (GNH) #r grgom &1
Sl O
v 2 T
3.9
X 3 T
X 4 direTeRT
Question ID : 9489112326
Option 11D : 9489119302
Option 2 ID : 9489119303
Option 3 1D : 9489119301
Option 4 ID : 9489119304
Status : Answered
Chosen Option : 2




e TR FT TH 3ETEI0T G ¢

Ans x
1. E'ﬂQT
v 2 FJTET i
X 3 T
X4 e
Question ID : 9489112316
Option 11D : 9489119263
Option 2 ID : 9489119261
Option 31D : 9489119262
Option 4 ID : 9489119264
Status : Answered
Chosen Option : 2
U T § ¥ Brae Sy SRAT AR sEwE ¥ a4 2
Ans
X . T faRor FAR
X 2 garer g9
V'3 glg Aty 91
X4 Fx BrET
Question ID : 9489112330
Option 11D : 9489119318
Option 21D : 9489119319
Option 31D : 9489119320
Option 4 ID : 9489119317
Status : Marked For Review

Chosen Option :

3

12 180+ 20{(15—6) + (24— 18)} & AT AT =TI

Ans

X 1180
9
2.

v’ is

X5 135

X 4110

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114249
94891116994
94891116996
94891116995
94891116993
Answered

2




P ara F 1770 # Tl vwe 3% &7 A Far 9
X2 arRdw Be §%
«'e.ﬂ‘maﬁqaﬁm?r
X 4 SRIT dF

Question ID : 9489112341
Option 11D : 9489119363
Option 21D : 9489119362
Option 31D : 9489119364
Option 41D : 9489119361
Status : Answered
Chosen Option : 3
Q.14 dﬁ,wmﬂmﬁmmmﬂmgwtmamaﬁmﬁmﬁﬁ
Ans X1 3T
X 2. AOgEFsR
X 3 urIiss
v ﬁﬁ?ﬁh i
Question ID : 9489112315
Option 11D : 9489119259
Option 2 ID : 9489119258
Option 31D : 9489119257
Option 41D : 9489119260
Status : Answered
Chosen Option : 4
Q.15 = (ISRO) =¥ 3/Fzs 2008 # $INA % Tgel FAR W FT F&T0T BFT| 30 TAT ST & 3eTaT i
T2
Ans o1 S, ATET AT
X2 THLS. Hege FelA
X 3 F. FEIUET
L
X+ Tug. faRor FAR
Question ID : 9489112331
Option 11D : 9489119323
Option 21D : 9489119322
Option 31D : 9489119321
Option 4 ID : 9489119324
Status : Not Answered

Chosen Option :




' 48 3R 65 1 YA FATEA (LCM) AT sl

ans X1 85
X 2 48
V'3 3120
O
Question ID : 9489114250
Option 11D : 94891116998
Option 21D : 94891116997
Option 31D : 94891117000
Option 4 1D : 94891116999
Status : Answered
Chosen Option : 3
Q17 grz fzar Fuadr & domrer 3y fagr ov darEr 3fwr o 9§ g fRar
ans X1.1865
X 2 1675
< 31965
v 4 1765
Question ID : 9489112318
Option 11D : 9489119269
Option 2 ID : 9489119271
Option 31D : 9489119272
Option 4 ID : 9489119270
Status : Not Answered
Chosen Option : --
Q.18 WW#WW%WMWSMT | a‘gmﬁmﬁﬁﬁwmaﬁﬁm
= - -
Ans  of 1. 20
X210
X315
K45
Question ID : 9489114270
Option 11D : 94891117079
Option 21D : 94891117078
Option 31D : 94891117077
Option 4 1D : 94891117080
Status - Not Attempted and

Chosen Option :

Marked For Review




Q19 sige 97 & fireT (TaEaTE) 309 = & fov faeafefea & ¥ w7 ferar = 82

Ans

X 1. fafew s

v FEfaE wE
X 3 HoFgE 3FA
LY
X o ofafes
Question ID : 9489112314
Option 1 ID : 9489119255
Option 2 ID : 9489119254
Option 3 ID : 9489119256
Option 4 ID : 9489119253
Status : Answered
Chosen Option : 2
Q20 27 3k 81 # wgeaH TAMEA (LCM) 3R Fgedw gAMETH (HCF) A1d Hifsw
Ans X1 81; 81
v 2 81; 27
~ 3 27 27
X 4 27; 81
Question ID : 9489114251
Option 11D : 94891117004
Option 21D : 94891117001
Option 31D : 94891117003
Option 4 1D : 94891117002
Status : Answered
Chosen Option : 2
Q.21 81 —-h
3 =
IF a=32p & A FT A AT H=T)
2a+3b
A X117
21
o 2. G
17
I g
Wi —
27
17
X4 —
Question ID : 9489114255
Option 11D : 94891117020
Option 21D : 94891117019
Option 31D : 94891117017
Option 41D : 94891117018
Status : Answered
Chosen Option: 3




Q.22 ﬁamm&ﬁ:ﬁmﬁaﬁmﬁﬁwmﬁﬁﬁmﬁaﬁmmﬁgﬂﬁmﬁ,ﬁﬁ

T AT AT T2 ¥ B gde @ 2 3T 5a & s o S ava
FT T AT B B

hT:

= T T fem & S T A I B R F
fam:

|. =Merep! & TF TAT FET & T T e =e e B
II. gEEaTs &1 FeEAC W A 2

At X T ar ey | 3k F & ey 1| o e B
X 2 Faer sy | araa Far T
X3 gr ar ey | sy || 9ree AT g
v ¢ Faer TosHY || T I §

TR T T FUF

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489112881

1 94891111524
1 94891111521
1 94891111523
1 94891111522
: Not Answered
Chosen Option :

OB ofte T AT &g gor & wefag &2
s X arferEaTe

X 2 e

v 5 gigroT ke

X 4 8Rd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112322
9489119287
9489119288
9489119286
9489119285
Marked For Review
4




2 Crafefed # @ #i7 @ we By o wsuar & e ad

e K. Argeeiee
v 3TH
X 3 ggo
X 4 e
Question ID : 9489112317
Option 11D : 9489119268
Option 2 ID : 9489119267
Option 3 ID : 9489119265
Option 4 ID : 9489119266
Status : Answered
Chosen Option : 2
Q.25 famfafas & & & 2018 # gfad® (UNICEF) &1 3R wgeaT Teigy fogea fomam amr ar?
Ans x *
1. Frepr =raEr
X 2 Framew Fefaer
S
X 4 e T
Question ID : 9489112334
Option 11D : 9489119336
Option 21D : 9489119333
Option 31D : 9489119335
Option 4 ID : 9489119334
Status : Answered
Chosen Option : 1
.26
0% 4x5+2-8X7+9—(3+2) # A AT Hf=T]
ans X170
v 2 42
<3 35
X4 21
Question ID : 9489114246
Option 11D : 94891116981
Option 21D : 94891116983
Option 31D : 94891116982
Option 4 1D : 94891116984
Status : Answered

Chosen Option : 2




Q27 smm ¥ TR F HT W FITOC TOE P AU F TelluT T Hr AaEFT ET &2

K. ST 356

X 2 =S 144
X 3. 3T=0q 198
v 3-1?;%?368

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112327
9489119307
9489119308
9489119306
9489119305
Marked For Review
2

Q.28 ayeiiepeme 3Ol AFAS 1T F 10% =TT FL § AR 9 AE 25,400 F 59 S &1 SR ATEFR

N AT i)
Ans X1 35,400
< 236,400
X 3 25,000
v 4 36,000
Question ID : 9489114253
Option 11D : 94891117009
Option 21D : 94891117011
Option 31D : 94891117012
Option 41D : 94891117010
Status : Answered
Chosen Option: 4
Q.29 ¥t Fr -3 T T HAWYH weleue AESE AT =T § s onfEw aw ¥ ¥ aw wee,
e, TeEe #
Ans «
- CCry
X 2 3gEE
X 3 R
X 4 gdaE
3
Question ID : 9489112309
Option 11D : 9489119235
Option 21D : 9489119234
Option 31D : 9489119236
Option 4 ID : 9489119233
Status : Answered

Chosen Option :

1




-3 ‘s 35 vA g aHw qEaw e g 37
Ans K,Imﬁ?

v 2 orfdr o

X2 g A

X 4 3rcer Tagdr areaT

Question ID : 9489112305
Option 11D : 9489119217
Option 2 ID : 9489119220
Option 31D : 9489119218
Option 4 ID : 9489119219
Status : Answered
Chosen Option : 2

W ol F Y F AR@T F @ FiF @ wua @ A6

Ans KT

Foar ¥ BT W 29X &9 U 9% H 9 UF a1 & vared e gl

X 2 Fofadt & g0 & 599 3 F& g9 £
v 3 Fofeat & Sew oftg=or @t B
X 4

FOoE & TS & gaRT Wd P 9T har Srar § 3R g deded g g

Question ID : 9489112312
Option 11D : 9489119247
Option 2 ID : 9489119245
Option 31D : 9489119248
Option 4 ID : 9489119246
Status : Answered
Chosen Option: 4




Q.32 21 s v TEEEEE F @M AR umy F Awmw W § st @ 3 S Wooseesy ¥ 9w F
FoATS 0T FH 45° 3T 60° § ARy wscEmE H FAE 81 m §, o g SEt & = f g w
EniEcyl

(1 +43)
X~—8N§ m

Ans

Question ID : 9489114272

Option 11D : 94891117088
Option 2 ID : 94891117086
Option 31D : 94891117085
Option 4 ID : 94891117087

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q33 3ty fr Tom-FR & TeTH FETHAT AN gERT SR W g T AH qw
Ans X1 iflnBT ﬁ?ﬂ%’

v 2 FOROT g

X 3 TR A

X 4 gEr AT

Question ID : 9489112321
Option 11D : 9489119281
Option 2 ID : 9489119283
Option 31D : 9489119282
Option 4 ID : 9489119284
Status : Answered
Chosen Option : 2




Q.34 120 9=t F1 F7 Hew, x W F GFT qoT F WA §1 TG AT 25% §, & x FAF A HifSw

Ans X190
X2 95
X 3 91
v 96

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114258
94891117029
94891117031
94891117032
94891117030
Answered

1

Q35 gfrq:p =+7:V3 & @ (3a+ 2b): (3a—2b) & A =8 ¥ FFgs saT 297

Ans

x 1 2 4 421
@ - V2D

2 — 21
(2 + V21)

; 2 + 421
ez

\ 2 ++/21
2= 7D

X 2

x

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114254
94891117013
94891117014
94891117015
94891117016
Answered

1




Q36 FE EFT H ERFA T MR IFT L T T FT RO A AT R aFT g IR T ™=

arer e w1 #=a §, O 36 e e # o ww §

A o1 5 R
v2 6 =
X3 8 fe=
X9 fa=

Question ID : 9489114261
Option 11D : 94891117044
Option 21D : 94891117041
Option 31D : 94891117042
Option 41D : 94891117043
Status : Answered
Chosen Option : 2
Q.37 v gieae HTEfeas 9T F%T (motivational speaker) §, St SeA=T Ze-wATeaT HEH
(tetra-amelia syndrome) @TH® T ¥ IEd &, oW IRT e (Fref v W) F wgateuty amr goe
R F w7 & qfenia & =T &
Ans = e
v &= Eﬁﬁa?a (Nick Vujicic)
X 2 2= e E (Tony Robbins)
X 3. forar @=rerm (Lisa Nichols)
X 4 23 TA" (Dave Ramsay)
Question ID : 9489112304
Option 11D : 9489119215
Option 21D : 9489119214
Option 31D : 9489119216
Option 41D : 9489119213
Status : Not Answered

Chosen Option :




Q.38 getaT TCP/IP ATHS UH SIEIHiel ST I9ANT F% FH T &1 TCP/IP &7 quT &9 41 &7

Ans x1_

TR FoHeT HemA/seE Setier (Transmission Computer ProgrammelInternet Protocol)
N

ZIHTART Shelel FIetenlel/3etele Serie (Transmission Control Protocol/Internet Protocol)
X 3

o FYEX Weria/selaAe el (Tele Computer Protocol/Internet Protocol)

y 8

TFIRY T WeHa/Fee Wehd (Temporary Computer Protocol/Internet Protocol)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112337
9489119345
9489119347
9489119346
9489119348
Answered

2

Q.39 =z o ¥ o wEw A9 fSw, GmE 25 Fied W 9T T 25, 36 T 40 F Ui R E@e
Ans X 1. 3725

X 2. 2225

<3 25

v 4. 3575

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

9489114252

94891117008
94891117006
94891117005
94891117007

Not Attempted and
Marked For Review

@40 15 (6 + 6X%X6)=(2 + 5) F AT AT AT
Ans «1_ 9

8
K35
7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114244
94891116976
94891116973
94891116975
94891116974
Answered

1




Q4 T N F g H HF T A FA A AN FF FF B H RNV IR w s § i Twa ¥ &
AT R B R TN Q T F Ay 7 i O =T
R MVAATAEE SHVeF eI S oo #§ 43 §1 T F a¢ 3 o 3% waen ey

e 3% §7

X1 g ik d=
X2 Tk ar
Voo AR AR

Ans

X 4w AR O
Question ID : 9489112900
Option 11D : 94891111598
Option 21D : 94891111599
Option 31D : 94891111597
Option 41D : 94891111600
Status : Answered
Chosen Option : 1
Q.42
TS FTHAT FEEeT e w9 oF & maw ar
Ans
v 112 3189, 2005
/< 2 30 sy, 2003
X 3 1 F=adr, 2000
/< 4 15 319184, 2005
Question ID : 9489112342
Option 11D : 9489119365
Option 21D : 9489119366
Option 31D : 9489119368
Option 4 1D : 9489119367
Status : Not Answered
Chosen Option : --
Q.43 UF THIGHS # GAT 68 cm § HR 305 UF BFO F d9% 16 cm T FHAIGS F &G A
Eaje el
Ans X 1. 320 sq cm
2 240 sq cm
X 3 220 sq cm
/< 4 200 sq cm
Question ID : 9489114264
Option 11D : 94891117056
Option 2 ID : 94891117053
Option 31D : 94891117054
Option 4 ID : 94891117055
Status : Answered

Chosen Option : 2




Q.44 #F= R aw 9) 39 NG H | HEE 37 Y@, Fon, dew HT wer a9 & d gey S gEfeds &9

o owla e 2

Qo o000

Ans x 1.1
K22
v 4
X4 3
Question ID : 9489112897
Option 11D : 94891111585
Option 21D : 94891111586
Option 31D : 94891111588
Option 4 1D : 94891111587
Status : Answered
Chosen Option: 3
Q.45 1857 ¥ fagie & s welr odw wfUfyat 7 geor # @7 or deo Tar (e sarfermw) enfier of?
s X1 e AfeT =5E
X 2 203 afeT s=har
X 3 218t afeT s=har
v i 418t AfeT ==k
Question ID : 9489112319
Option 11D : 9489119275
Option 2 1D : 9489119276
Option 31D : 9489119274
Option 4 1D : 9489119273
Status : Not Answered
Chosen Option : --
Q.46 R 1w Rwedt & F 3@ FET-AAE F TIF FY, F A & T ST F weeA REA (?) F FH W A
TFT £l
CX, FU, IR, (7)
as X1 KP
X 2 HS
X3 JQ
v 4 LO
Question ID : 9489112884
Option 11D : 94891111534
Option 21D : 94891111536
Option 31D : 94891111535
Option 4 1D : 94891111533
Status : Answered
Chosen Option: 4




Q.47 ¢ Fr Rrear & Rl F swe s aET-EET W v F0 g G S ¥ 5w 9 A

F wF F AT AT B

Ans X1 TOTIET
v o gasafafaw
X 3. HelchreT
X 4 ofyE=ror
Question ID : 9489112313
Option 11D : 9489119252
Option 2 1D : 9489119249
Option 31D : 9489119250
Option 4 ID : 9489119251
Status : Answered
Chosen Option : 2
Q.48 uw fagar & 71 & 10 @ &7 ¥ ifthar @ldN 25% o1 A & @ 38 71 & fradr aiftsar a=er
anfge?
ans X130
1
X 2.8
5
V3 8
X 46
Question ID : 9489114259
Option 11D : 94891117033
Option 2 1D : 94891117036
Option 31D : 94891117035
Option 41D : 94891117034
Status : Answered
Chosen Option : 3
Q.49 ©w Yo 5 5T F 240 kmvh Fr W ¥ v TRET g T = ¥ A Rl g9 S 45 e
F A g FT w0 @, O 38 R 9w § 7 s g
Ans  X'1.1200 km/h
X 21250 km/h
X 3 1440 km/h
v 4 1600 km/h
Question ID : 9489114263
Option 11D : 94891117049
Option 21D : 94891117050
Option 31D : 94891117052
Option 4 ID : 94891117051
Status - Not Attempted and

Chosen Option :

Marked For Review




Q.50 Fr=r BT T AR 37 3Gt F F Faww 3= 3w, Riecee, wfEEEnt #t sfewet § 499wy =

FafeaA &1 ¥ g F T £7
©@o 000
1 2 3 4
Ans x 1. 4
<21
X33
V2
Question ID : 9489112896
Option 11D : 94891111584
Option 21D : 94891111581
Option 31D : 94891111583
Option 4 ID : 94891111582
Status : Answered
Chosen Option: 4
Q.51 frwm 30,000 & w T A @iedr § T sEH FEAT W 25,000 T wAT §1 ARG 9 3W a"H
T 742,000 F F=am §, O 3WE gaerd @Y AT S
ans X1 18%
v 2 20%
<319%
X 4 17%
Question ID : 9489114257
Option 11D : 94891117027
Option 21D : 94891117028
Option 31D : 94891117025
Option 4 1D : 94891117026
Status : Answered
Chosen Option : 2




Q.52 IfE xcos45°sin120° + sin60°= —xsin90° 4+ 1 &, &7 x &1 AT AT ST
Ans
v —Zﬁ— V6
242 + 43
, (2 -3
(2v2 + v3)
3. (2_—@
(V2 +V3)
BN
(V2 ++3)

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

Status:

Chosen Option :

1 9489114271

194891117084
1 94891117082
194891117083
1 94891117081

Not Attempted and
Marked For Review

¥ S Framm T QST 3T aTer Igel M Hied AT AT?

Ans N
X1 =6
X 2 39T 17
X 5. Tt 25
v 4 efsl 9
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489112306
9489119223
9489119222
9489119224
9489119221
Answered

2




Q.54 == A Soteie W YTk SUEISE S AT T TR SEA A BT ¥ S A & sfas s A
PO THFHEYT & T F AT ST 7| AraeEg ¥ w9 o Gl o g e w7 Saa

Ans

TFHEENA &7
v 1. .gov
X 2 mil
X 3. .com
X 4 net

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112338
9489119350
9489119351
9489119349
9489119352
Answered

1

Q.55 Br=ifFra 39 30 FT HeTTT FL A 37 91 F S IT67 AT FT TaT FY, S AEF, TAAF AT

Ans

T &, Wfhe AT e g

Actors = A=, Writers = 3/, Dancers = @d®, Singers = &%

v
X2k
X3 e
X4 f

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112898
94891111589
94891111591
94891111590
94891111592
Answered

1




Q.56

g8 ¥ fl 9N 9% TogreueT (Head of the State) =T =ram?
X1 faeex e (Viktor Zubkov)

2. =T gfa= (Viadimir Putin)
X 3. i@ AT (Dmitry Medvedev)
X 4 I Feaf@= (Boris Yeltsin)

Question ID : 9489112307
Option 11D : 9489119228
Option 2 ID : 9489119226
Option 31D : 9489119227
Option 4 ID : 9489119225
Status : Answered
Chosen Option : 2
Q.57
I x+y =5 T xy =6 & ar x> +y® F AR AT FfET
Ans o 1. 35
K2 25
X 3 45
X 4 55
Question ID : 9489114267
Option 11D : 94891117065
Option 2 ID : 94891117066
Option 31D : 94891117067
Option 41D : 94891117068
Status : Answered
Chosen Option : 1
Q.58 fGrfefed & @ 7 @ A= @ § #ieg v a0t §, S s S A et ¥ ol & @l
A F o ST 87
e frEmeee
X 2. ToiToed
X 3 937 T&d FHoeT
& 4 oThTeRT
Question ID : 9489112311
Option 11D : 9489119242
Option 2 1D : 9489119241
Option 31D : 9489119243
Option 4 ID : 9489119244
Status : Answered

Chosen Option :

1




Q.59 L 3ix A TEIEr @9 ¥ Wy 3= BT o §) 30 onh fr Fwar &, L F 10 B o § S Faw 36

shmfsksmAmE A A i s FAsgm 7wl remomaa L FAwd

Chosen Option :

dsrafrasmd
ae X1 2
X25
v 3
X4 4
Question ID : 9489112901
Option 11D : 94891111601
Option 2 ID : 94891111604
Option 31D : 94891111602
Option 4 1D : 94891111603
Status : Answered
Chosen Option: 3
Q.60 fyfr f2fP9a Fe oo # CHARGER 1 129 for@m = 2, 33 %2 &1 & HINGES & 7% TR’
or@T FreeT?
ans - X1.101
<2 99
v'3.100
< 4102
Question ID : 9489112880
Option 11D : 94891111520
Option 21D : 94891111517
Option 31D : 94891111518
Option 41D : 94891111519
Status - Not Attempted and

Marked For Review

Ans

ot 1= 2x %,r-ﬂx—e) F AT AT DT

X112
V20
X3 4
X2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489114256
94891117024
94891117021
94891117023
94891117022
Answered

2




Q.62 37 fyseT 1 ITT FY, TEF I g F WY T TET §, S WY A F TES M T R

Ans

HEH : 9 @ Rl ?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112875
94891111498
94891111497
94891111500
94891111499
Answered

1

Q.63 #rr Ry ov = gl # ¥ fiW BET YN & 9 & @ET0d §, T 348 @ TS AT Bl e

T & =TT
Ans X 1. GHe=AdT
X 2 zner
v 5. gigHear
X4 oag
Question ID : 9489112893
Option 11D : 94891111569
Option 2 ID : 94891111571
Option 31D : 94891111572
Option 4 ID : 94891111570
Status : Answered
Chosen Option : 3
Q.64
1+ cos2A
———— F AR AT F=T (AT A T )
1—cos2A i
Ans  of 1. cot A
X 2 tanA
< 3 cosA
X 4 sin A
Question ID : 9489114268
Option 11D : 94891117072
Option 2 ID : 94891117071
Option 31D : 94891117070
Option 4 1D : 94891117069
Status - Not Attempted and

Chosen Option :

Marked For Review




G G PI=Y3IRSD=W, @rGN="?

Ans J1_ U

- Z
K3 X
-V

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112883
94891111529
94891111532
94891111531
94891111530
Answered

1

Q66 ey F I aER W ¥ Rrw W H e frw a§ £ g o9

Ans of 1. 1853
X 2. 1583
X 3. 1385
X 4 1953

Question ID
Option 11D

Option 31D
Option 4 ID
Status

1 9489112320
19489119280
Option 21D :

9489119278

1 9489119277
1 9489119279
: Answered

Chosen Option :

1

Q.67 o fadw FE s #, LOTUS % KPSVR f3ram e &, 38 % amar & WATER & 5w w&r faar

STee?

Ans X1 UBFSQ
X 2 UQSGB
v 2 VBSFQ
X 4+ VBFSQ

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112879
94891111513
94891111514
94891111515
94891111516
Answered

3




Q.68 zfy fardlr == @ =7m 5 cm 3T =EH Fe=nw FEE 172 om £, @ sHeT e AT el

A
" X 14100 mem?
v 2. 4300 mcm?
A 3. 1500 nmcm?
# 41000 mem®
Question ID : 9489114266
Option 11D : 94891117063
Option 21D : 94891117064
Option 31D : 94891117062
Option 41D : 94891117061
Status : Answered
Chosen Option : 2
Q.69 31 eFga 2020 T WA FFHY F HIOR, TIFT WT H TEET 9T ATfEeT £
Ans X 1150
< 2. 250
<5100
v 4193
Question ID : 9489112333
Option 11D : 9489119329
Option 2 ID : 9489119332
Option 31D : 9489119331
Option 4 ID : 9489119330
Status : Answered
Chosen Option : 4
Q70 Grfafes & @ 59 frew & AeR RER & v amifea 7@ fear mr ar?
Ans X1 SRS
X 2 gorH s
X 3. #eT sfEar
v 4 AT
Question ID : 9489112308
Option 11D : 9489119231
Option 2 1D : 9489119230
Option 3 1D : 9489119229
Option 4 ID : 9489119232
Status : Answered

Chosen Option: 4




Q.71 fw s Tt R Frswst @ coraEd 96 Fe A & T SEEA H Tl Aad ge FeR & o f

Ans

AT A A T e gt md v ma o, e S Taw &
B

ERIEN

Tl e A §

Wl TR T E

fors=e:

Fo w5 e AR afeE &
=l ghem= we

X Far Ty 13k 7 & By 2 @ 8
X2 g 1 3k 2 3= T 2

X 3 Faer Tspy 2 T g

v haa Ay 1 J@Er 7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112876
94891111503
94891111504
94891111502
94891111501
Answered

4

Q72 Ffrxiy=2:3 ¥ @ (5x+3y): 5x—3y) F AT AT Fi=T|

Ans

X1.19:3

X29:1
v319:1

X 419:2

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489114260

1 94891117039
1 94891117040
1 94891117037
194891117038
: Answered
Chosen Option :

3




Q.73 Factors that make a person’s place of origin seem less attractive for reasons such as unemplovment, poor living

Ans

conditions and unpleasant climate are called

/< 1. climatic

/< 2. negative

/< 3 pull
+ 4 push
Question ID : 9489112325
Option 11D : 9489119299
Option 2 ID : 9489119297
Option 3 1D : 9489119300
Option 4 ID : 9489119298
Status : Answered
Chosen Option : 4
Q.74 : s
A I TA TF SN AT gaTs 7T Fgl 12U 82
Ans J
1 HHTE
X 2 FqLer
X 3 TEeTe
X 4 fR{reer
Question ID : 9489112340
Option 11D : 9489119359
Option 2 1D : 9489119360
Option 31D : 9489119357
Option 4 1D : 9489119358
Status : Answered
Chosen Option: 1
Q.75 E X C WFR T THY F T FH FIA T0g F 81 A, C AT H & T FIH FA1 THg Fm g
H 3t L & B & o1 15 53 90g 767 & 590 ¥ BT FeT § T H/e 82
Ans « 1.}l
X2 A
X3 H 3k L a=t
X« H
Question ID : 9489112899
Option 11D : 94891111594
Option 2 ID : 94891111595
Option 31D : 94891111596
Option 4 1D : 94891111593
Status : Marked For Review

Chosen Option :

1




Q.76 vus iR dAg 1 A6 7200 m? ¥ 4 km/h Fr Fog O @ 96 @ OF GEFS @0 56 T

& Tt 9N = # faar gET wEe?

s X1 5 e
X 2 25 AT

{3% Aae
X4 30 e

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status:

9489114265

94891117060
94891117057
94891117059
94891117058

Not Attempted and
" Marked For Review

Chosen Option :

Q77 Praffla # ¥ 50 o # ‘T FAF A% T M @ F a5 T S T 2

Ans x1§a%_
v 2w
X 3. RremErTsas
X 4 O =TT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112310
9489119237
9489119240
9489119238
9489119239
Answered

2

Q.78 A group of workers who are highly qualified, skilled and that do mental work are called:

Ans X 1. Farmers
/< 2. Plumbers
v 3. White collar workers
& 4 Artisans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489112324
9489119295
9489119294
9489119293
9489119296
Answered

Chosen Option: 3




VP Sfafta & @ #iF @ e 39 aEew A R
Ans X1Wm

X2
v 5 TPz
X 4 AT BaTheE
Question ID : 9489112336
Option 11D : 9489119341
Option 21D : 9489119343
Option 31D : 9489119344
Option 4 ID : 9489119342
Status : Answered
Chosen Option : 3
Q.80 s =¥ 10 Bae & 500 m =& Hgeh U FIAT §| =i T wrer frelieey gfey € (kmih) F w1
Eaie |
Ans X 1. 7 km/h
v 2 3 km/h
< 3. 5 km/h
X 4 8 km/h
Question ID : 9489114262
Option 11D : 94891117047
Option 2 ID : 94891117045
Option 31D : 94891117046
Option 4 ID : 94891117048
Status : Answered
Chosen Option : 2
8+ (1+2)x 16 & A AT AT
Ans of 1. 20
X 2 35
X3 4
X410
Question ID : 9489114245
Option 11D : 94891116977
Option 21D : 94891116980
Option 31D : 94891116979
Option 4 1D : 94891116978
Status : Answered

Chosen Option :

1




082 pfr 3x+4 x8-9=x=3—-1 & ar x = 77 717 ST

Ans x 1.2
41
v2_"-
24
X3 1
21
4, i
24
Question ID : 9489114247
Option 11D : 94891116987
Option 2 ID : 94891116985
Option 31D : 94891116988
Option 4 ID : 94891116986
Status : Answered
Chosen Option : 2
Q.83 acosB —bsin B
afr acotdo =b g ar — T AT AT HITATI
acosB+bsinB
Ans « 0
X2a-b
X3 2a
X4sa+b
Question ID : 9489114269
Option 11D : 94891117076
Option 2 ID : 94891117074
Option 31D : 94891117075
Option 4 1D : 94891117073
Status : Answered
Chosen Option : 1
.84 ;
08 sra #F TSET AFEUER TR & e e v #r o o
Ans X 1. 1950
v 21993
< 3 1857
X 41947
Question ID : 9489112329
Option 11D : 9489119314
Option 21D : 9489119313
Option 31D : 9489119316
Option 4 ID : 9489119315
Status : Not Answered

Chosen Option :




Q.85 2 m waT vH TR, TF FER F 150V3m F gf W 1 Yo H @ F HER F fF F semwmT

FT 60° ¥ FAR B F=ng AT Hriew|

Ans X1 480 m
< 2 450 m
#3400 m
v 4 452 m
Question ID : 9489114273
Option 11D : 94891117091
Option 2 ID : 94891117092
Option 31D : 94891117090
Option 4 ID : 94891117089
Status : Answered
Chosen Option : 4
Q.86 i faw sw orw F @i WA Fr 3= F dhuw o= 7 A=t (monthly sales of bikes) ®r TEAT @
ST 14T | ATH T HTolw Y AN IHF IUR W BT T 92 T Ieal 3
Monthly Sales of Bikes
o
\'b&“?c:p‘"”a « &t
= T wv M § ¥ w wde 7 R m{Januaw)ﬁW(July)ﬁmﬁmﬁm
TR & TaTeyer ofr?
Ans -
X 1. 3rder (April)
v 2 ®Iadr (February)
X 3 7 (May)
X 4 FAGY (January)
Question ID : 9489112889
Option 11D : 94891111555
Option 2 ID : 94891111554
Option 31D : 94891111556
Option 4 ID : 94891111553
Status : Answered
Chosen Option : 2




Q.87 =y Rw aiv s & WiF AEET $r aftr F gk = € Wt (monthly sales of bikes) $r TEaT Fr

Ans

T =TT ¥ I F e 1 R FEF A o R v 9 #7osew &

Monthly Sales of Bikes

xRS, S
& @ A& L)
SRR

GO
o &
L

G_ﬁé’{‘]uly)mﬁ@?ﬁﬁ',mﬁ'ﬁ'(.]anuary)mﬂ'g‘éﬁ‘qﬁ'#_gﬁ'iﬂ'l

X135
X225
vz 3
X2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112890
94891111557
94891111558
94891111559
94891111560
Marked For Review
3

Q.88 =y Rw v I & WiF AEET $r afer F ke = 7 WAt (monthly sales of bikes) $r FEAT Fr

Ans

ZoTaT 14T &1 I F e 1 R FEF 3T W BT T 9o #7137 &

Monthly Sales of Bikes

700

500

300
200
100 -

STl (January) & AT (March) 3T 3 (April) & ST (June) #r s@fer & & Refr & gé Eirc

wfwrT gie aemmEr et o
v 1 83%
X2 17%
X3 91%
X4 71%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112891
94891111564
94891111562
94891111563
94891111561
Answered

1




Q.89 =y Rw arv I & WiF AET $r aftr F gk = 7 WAt (monthly sales of bikes) $r TEAT F

T 1T ¥ I F e F1 R FEF A o R v 9 #7 o3ew &

Monthly Sales of Bikes

A

&

&
Q'b
&

o8 A & @
PO

o wém F goen # Tew & ¥ B e § B e ofte e ar?

Ans X1 S
X 2 HIE
VAR
X 4 arder
Question ID : 9489112892
Option 11D : 94891111567
Option 2 1D : 94891111568
Option 31D : 94891111566
Option 4 ID : 94891111565
Status : Answered
Chosen Option: 3
Q.90 FH I 9% Tod FAAFER F IFFAN, 8 FeEd a9 T IR A stea amg 39 9 7 ugma?rg@ﬁ:
TF 9 91E TG TF dAeod T4 F M o §, 39 F 10 I qg TER Fr sdwa g w2 e
Ans
X 1. 46 99, 8 AE
X 2 49 99, 6 AE
V'3 44 3§
X449 %
Question ID : 9489112902
Option 11D : 94891111608
Option 2 ID : 94891111606
Option 31D : 94891111607
Option 4 ID : 94891111605
Status - Not Attempted and

Chosen Option :

Marked For Review




Q.91 v orv ReFedt & & 39 T4 F 94T I, S A9 & 7 Aol F g REd (2) F TUE G AT HEAT
gl

439, 503, 628, 844, ?

Ans o 11187
X< 2 1893
X 31817
X 41983

Question ID : 9489112885
Option 11D : 94891111538
Option 2 ID : 94891111537
Option 31D : 94891111539
Option 4 ID : 94891111540
Status : Answered
Chosen Option : 1

Q.92 few o feeredt F § 3W HEW w wE Y, e Sl §Ea & W 9 g9 g, S w9y gEd we
w1 g TEar & g

18:27:28:7

ans X 1. 54
X2 48
X 36
Vi 42

Question ID : 9489112874
Option 11D : 94891111496
Option 2 ID : 94891111495
Option 31D : 94891111493
Option 4 ID : 94891111494
Status : Answered
Chosen Option : 4

Q.93 100 e RT 7w §, B ¥ T F T 5o ¥ BT 1 3% BT Smar ¥ 100 st F & 30, 50 sk
20 e, FHI: FE, FeAH HR F5T T F F 93T 9F H Fieas Tl F gAe [ ARk weat
AT AT F WY G AfSawanst @ ofdw G o ¥ o B 3 aiffermant @ sopse W

¥, o 3w o AfierEaTst & 97 ¥ AW TeE F g T AHEAT g1 AR HAr AR e Terd

3o & T 0.33 3% wear § 3k o @i et F g war 8, a 35 R soae Far gee
Ans 1. 62.98

X 2 62.49

V'3 62.76

X 4. 62.60

Question ID : 9489112903

Option 11D : 94891111609
Option 21D : 94891111612
Option 31D : 94891111611
Option 41D : 94891111610

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.94 s v uftaw # wlyer weEw § AT 5@ @ o= §1 M, S W O F1 M 3 st & g e

HOE & g4 AdT &, afew 3T AV, AT H 984 41
& o S & AU 9, T § ¥ Haer wua oete oer & wear 17

Ans v S F TH IF, & g §

X 2

S & wF IF, Te T g, AR Sy v oo 7@ e S wear g

X3 8 & T, & 7 gl

y 8

S & TF 99 g, 3R 3= & & et 7€ B o wwar g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112878
94891111509
94891111512
94891111510
94891111511
Answered

1

Q.95 fw arv REeedl # & 30 G4 F AAT HI, S A & T Avht F g FEd (7) F TS W AT HebaT

Ans

4l

47, 64, 448, 7, 2315, 2328, 6987

v 463
X 2 459
X 3. 465
X 4 461

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489112887
94891111547
94891111546
94891111545
94891111548
Answered

3




Q.96 few v w3k amonst F ceEE ) Fua F & W T #@ e 7w ge e #w, e f
TE TEETS: AT q F e w6 @ @ o aae oo ¥ wiE and T, 0 & @ e
T I FAT TS B

FUA:

oiet & e, et S ReT g § Fesd B # 39EET AE HE e
TYUTTE:

I. giteT & g A & o R @ gl

IIl. AETEe F §F TW@H T IAHT Tawal F 4gR @A H Agg Foar g

A X e s || aree e B
X2 o ar fasey | st 7 & Ty || 9ol = 2
v o ey | sl ey || gt aree s £
X 4 Faor FoFy | 9o =4 2l

Option 11D
Option 2 ID
Option 31D
Option 4 1D

Chosen Option

Question ID :
1 94891111526
1 94891111528
1 94891111527
1 94891111525
Status :
13

9489112882

Answered

Q.97 #= & ¢ Ix TemE F T @ B 9w ¥ dmw & gefg ¥ 6t 598 @ uH weee | e
HET FT T9T FL

ans K 1143
v 2 159
X 165
X4 187

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

9489112894

94891111573
94891111574
94891111575
94891111576

Not Attempted and
Marked For Review




Q.98 Ru orv ReFedt F & 37 T F 4T FI, N AT & O Ao F wod REF (?) F TE W AT AT
g

6, 10, 20, 24, 48, 52, (?)

ans X 1. 64
v 2 104
X 3. 56
X 4100

Question ID : 9489112888

Option 11D : 94891111550
Option 21D : 94891111552
Option 31D : 94891111549
Option 4 1D : 94891111551

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.99 =w fawew 1 TOF A A IEY FEI-EAE ¥ I TER HEOT § W YRR gE HEm-mAg ager
TEA-TEg ¥ TEa g

7591 : 56719 :: 5937 : ?

Ans X 1. 5973
v'2 9573
X 3. 9537
X 4. 3795

Question ID : 9489112877
Option 11D : 94891111506
Option 2 ID : 94891111508
Option 31D : 94891111507
Option 4 ID : 94891111505
Status : Answered
Chosen Option : 2

Q.100 #rr v =X 7IOET sOeet & ¥ O B0 TR T HOE # guilT §, F9F S ¥ U 30T B
e faeeT &1 =3 +Y

Chosen Option :

Ans 1.5 425 =51
K28 43 T=2D
X37493=23
X46589=28
Question ID : 9489112895
Option 11D : 94891111578
Option 2 ID : 94891111579
Option 31D : 94891111577
Option 41D : 94891111580
Status : Answered

1

QP HTML Generated date 2021/08/01-12:40:08







	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




